|
\— 4
] I-. °T °f% °i>\
-DDDD ' i~ Shelf Wall
Item NO. GR1 05 e ) Bracket(4pcs) MBX20 (2pcs) | M8x16 (8pcs) | MB8x20 (2pes)
i i © 6 (]
Installation Guide =
M6 (2pcs) M8 (8pcs) | 4x4 Hex Wrench
(2) Wire Grid (2 pcs) o= o 0%
E‘\ h 3 N 5x5 Hex Wrench Wrench Level (1pc)
~ o
@ Frame (1 pc) @
M4x5 (1pc)
@ ’ ‘ @8Washer
. ° © — T °
G &g N || L T, O,
@ Installation Template (1 pc) X x6 X
Per shelf Screw Package (2 pc)

-~

Tighten the part3 and 1 with screw (J)

STEP 1

’ Assemble reinforced wall panels ‘

R\

screwdriver
(self-provided)

o

J
\

-

STEP 2-A ’ Attach the shelf wall bracket to solid concrete wall ‘

‘ 1.Parallel Installation‘

60mm

Please select the appropriate height
according to the actual use.

3/8”(10mm)

Solid Concrete Wall

Installation Template

Attention! There is only one mounting board,
please use continuous line drawing points for
easy use.

VAN

Caution: Make sure that the shelf
brackets are completely fixed on

the wall without gaps to prevent
property damage or personal injury.

Caution: Please use the reinforcing

plate as the middle wall bracket. j

A

| 2.Vertical Installation |

Decide the height and use
template and level to mark
the hole.

60mm

3/8"(10m

plate

Reinforcing

Caution:The reinforcing plate needs

to be installed on the left, either upper p ”1
A side or lower side is OK. é

Reinforcing §
late

[

-

-~

’ Attach the shelf wall bracket to wood studs

STEP 2-B

| 1.Parallel Installation

e’ |
et

Caution: Make sure that the shelf
brackets are completely fixed on
the wall without gaps to prevent
property damage or personal injury.

/
N

Suitable for stud distance of 16"or 24"

Attention! There is only one mounting board,
please use continuous line drawing points for
easy use.

Aee

Decide the height and use
template and level to mark
the hole.

2.

60mm

©3/16”(5mm)

A

Caution: Please install the reinforcing
plate here as the middle wall bracket.

=4




/‘Z.Vertical Installation

I

N

Select the outer or inner hole of
the installation template according
to the distance between the wood

studs.

Suitable for stud distance of 18"

Suitable for stud distance of 16"or 24"

EF{einforcing plate

60mm

?3/16"(5mm)

Caution:The reinforcing plate needs
to be installed on the left, either upper
side or lower side is OK.

///STEPIB

’ Installation of wire grids ‘

‘ 1. Parallel Installation ‘

I

° ® o

°

Y

v

2.

DDbe—

5x5 Allen key

®

5x5 Allen key

Vertical Installation

B

Coo=—=

Y

o 0

Coo==—
2.

o

Coo=—

el <=0

o

©®)

0
°f oy © ] o<
M8x16(8pcs) M8 (8pcs) 5x5 Allen key Wrench

/

Caution

This product contains small items that could be a choking hazard if swallowed. Keep these items away from young children.

e Make sure these instructions are read and completely understood before attempting installation. If you are unsure of any part of this nstallation, please

contact a professional installer for assistance.

e The ceiling must be capable of supporting the combined weight of the garage rack and your stuff. Otherwise, the structure and weight capacity of the ceiling

must be reinforced.

e Proper tools must be used. A minimum of two people are required for this installation. Failure to install properly can result in property damage or serious

injury.

e Check joint parts every two months, making sure the screws have not loosened.
e This product is designed to be installed on a wooden ceiling or solid concrete ceiling. Before installation, make sure that the weight capacity of the ceiling
will support the combined load of the rack and your stuff. Never exceed the maximum load capacity of the product 220 Ibs (100kg), or else it may result in

product damage or physical injury.

Note: This product is intended for indoor use only. Use of this product outdoors could lead to product

°of o 062 oy
M6x20(2pcs) M8x16(4pcs) | M8x20(2pcs) M6 (2pcs) M8 (6pcs)
7 7 2 C
4x4 Allen key 5x5 Allen key Wrench

Kdamage or physical injury.




	Page 1
	Page 2

